Oirenal SER YIRS QQ 1019057849

EEPEE (Trehalase, THL) RF{IZ AR

ME 100 & /48 1+

IEXWERMSUEN 2-3 MUHIERRAMESEITNE

WEEN:

THL (EC3.21.28) JiZAAET W) Y. BUEVARE RN . g Bemiie 1 2 IhRefE T
AR f R A RS 2 B T EL R T RE R P

MERE:

THL AR = A R A h 8 28] W R AL B e L e 2 B R BB R R, IR AR i S &
HENYIBE T AR A 4-F B LRIy, AERE b &%, 78 505 nm A 4HF
AEMR U, DA Sk THL 6.

EESXERMAR:
I ICEE T/ AR . KA TR RR AR . R A S/ 96 FLER . WHER. DR

7&K

it FIRYLEREFIECH :

PBUR: W& 50mL X1 i, 4°CHRAE:

R Wik 6mLX1 i, 4CHA;

W = AR 10mIX 1 i, 4°CHRAE

WA= WA 10mIX1 i, 4CORME;  CGEHILEGE KIS, 7T 37°C/KVE/ME1ERD

HmillERYHES:

1. A0 4R A EE : AN S B B0 N, B0 RS B TR IR AN s i A
(104 AN« SREGEAAF (mL) 4 500~1000: 1 FIELE] G 500 7340 s AN 1mL
PR, P VAR A 4 T s R (ks ThE 20% 8% 200W, 75 3S, [HIBE 10S, HE 30
05 8000g, 4°CELy 10min, B LiE, BHIK AR,

2. HE b AL E (g) « REVBAFR(mL)N 1: 5~10 WLHLE CGEFREILZ
01g 21, M 1mL $#2EGED, vk 29, 8000g , 4'CE.L 10min, BB, Bk L
Rl

3. Mg CGRO MAbH: FZRImE (8 A (mL) « FREURAF(mL) N 1: 5~10 EEF]
(W 0.1mL IyE G A ImL #2808, UK AJ%. 8000g , 4°CEL» 10min,
170 T P 7 Ol o 1 8
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NELE

1. e BT 30min LA E, AT HEKZE 505nm, #ZKIE/KIHZE.
2. WK E 95 .

3. LAEWmmSH]: R0 RH AR = 11 S3FRE, HE £ b,
4. ke

HFIEFR (uL) XJERE NEE
=% 30 30
FIBK 50
HF— 50

45°C/KH, HERIR M. 15min, 95°C/KIE 5 Aroh& bR, fHRA W HIPTIERT 10000g
4°CEL 10min JEHL EIH).

BER 20 20

RA), B 37°C UfAshy)) 5 25'C LMD fRiR 15min /&5, T 505nm KA
WO . tFHE A A=A MEE-A WHE. BN EF R A5 RE.

THL EhDitE:
a. FARMEAELENNEMTEARNT
1. bRAESHE R IE [R5 FEA v = 0.4858x - 0.0042, R2=0.9999; x NFREMIKE (o
mol/mL),
y NBOGIE
2. HIREEREE
BALE X B mg HALEAFHMEN™ A Inmol & HE € N — Mg 1 5L
THL % 77 (nmol/min/mg prot)=( A A+0.0042) 04858 XV Jx i+ (V F X Cpr)+T X
1000

~366% (AA+0.0042) +Cpr

3. {EFEAEEE IS
FALIE X g ALV AT E Inmol & BT SO —ANBSE ) B
THL % /J(nmol/min/g #f#)=(A A+0.0042) +0.4858XV i +(W XV F+V FEid)
+TX1000
=366x(AA+0.0042)+W

N T R
BALIYE S B 1 3N ATE B AR B AL A Inmol &R E SN — Mg TS ) AL .
THL i /7(nmol/min/10* cell)=( A A+0.0042) +0.4858 XV JZ /it +(500 XV Ff+V FfE)
+TX1000

=0.732x(AA+0.0042)

5. #ZIMiE ) ABHE
BALE X B mL ME GO B EMEN 4 Inmol H &K € SN — MBI 1B A .
THL 3% 71(nmol/min/mL)=( A A+0.0042) +0.4858 XV & +(V i XV F+V FEi)
+TX1000

=3660%(AA+0.0042)

V B IIANEEARMEF: 0.03mL; V #E: IMARBOEATR, 1mL; V kE: RNAKRRE
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R, 0.08mL; V il IIAIME (8 #&F, 0.1mL; Cpr: FEARARKSE, mg/mL;
W: FEARBIE, g: 500: RS %, 500 /s T: JMNEFE], 15min;
b. H 96 FARMERTELNMT
1. bRUESAE FIE B 5 FEA y = 0.2429x - 0.0042, R2=0.9999; x NArEMIKE (u
mol/mL),
y AWOGE
2. EE AWREE
ALIE L 8 mg HLE AR EMEL T4 Inmol I EIWE &€ SN —ANBEE /7 HAL
THL % /7 (nmol/min/mg prot)=( A A+0.0042) +0.2429 XV Jx &+ (V £ X Cpr) +T X
1000

=732x (AA+0.0042) +Cpr

3. TeFEAREEHE I
PATE S B g A B4 Inmol i &7HE 2 SUN— NG 77507
THL % 77(nmol/min/g &£ &)=(A A+0.0042) +0.2429XV S +(W XV FE+V FEM)
+TX1000
=732%(AA+0.0042)+W

4. T2 B M B
AL E G B 1 AH T B AR 2 B AL A Inmol i A&TBE g SO — MBS ) 5
THL i 77 (nmol/min/10* cell)=( A A+0.0042) <0.2429XV JZ 8+ (500 XV FE=+V PE)
+TX1000

=1.464%(AA+0.0042)

5. #IMiF ) HRIHE
BALE S B mL I G B84 Inmol & E € SN — MBS /) 547
THL % 77(nmol/min/mL)=( A A+0.0042) +0.2429XV @+ (V i XV PE-V PR
+TX1000

=7320%(AA+0.0042)

V B IIAREAREFR: 0.03mL; V FEE: IIARIEAR, 1mL; V & KSR RE
AF, 0.08mL: V ¥ MIAILE (%) /&, 0.1mL; Cpr: FEAREAFKE, mg/mL:
W:  FEAUR, g; 500: ZHp B E 4L, 500 3 T: JMNIRF[E], 15min;

’ ifemall
o winyou



